
the b_n terms go to zero FASTER than the 
terms of a convergent series, so the b-series
has to converge

i..e., the denom is going to infinity much faster than 
the numerator

think: 
1. fraction
2. focus on the first terms: 

1. see: fraction, focus on leading terms, see 1/n which 
you know diverges (harmonic)

1. now we have 1/n a diverging series to compare: 



taking absolute values makes it much harder
to converge.  if the abs values series converges
well, then the one that is sometimes +/- does 
converge``
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